Subtracting 2 digit numbers —\Wednesday 3rd March

Please print these pages and complete your work by hand. Then take a photo or scan your
finished work and email your work to Miss Brophy.

Subtract 2-Digit Numbers ~ Crossing Tens
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P'—Use base ten blocks to
subtract 18 from 52.

]
]
]
|

7
(7

T, . ™ VPN TN, A, "
T, . ™ VPN TN, A, "

o T, " T T T T,
o T, " T T T T,

S —

.
Use a number line to calculate 63 minus 26.




Subtract 2-Digit Numbers - Crossing Tens o
Ring the odd one out.

41 - 15 =
95 - 68 =
52 - 24=
64 — 36 =

36 -17 =

18 — 49 =

83 - 59 =

Explain your choice.




